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13, T@YA = 6000 To, Flo ST = (7200 — 6000) Fo = 1200 Fo, WA = 4 4.

100 x Hic =TH 100 % 1200 )
= = | o, = RO,
=S B T T {ﬁomﬂJ v, ST = 5% Y,

Hw= (SX%]%*—-%%W.
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a1, ngﬂ=6oooao,at=7%aﬁm,w=5mf.

WOW=[GOOOXEX—1—-X5]“60=2250‘60.
2100
T = (6000 + 2250) To = §250 To,
14. T AR ¥4 = x To, T4, )
[ 23 1 )[ 10 )111 23x  10x 111
XXX —xl |-k x]|—— - —=—
2 100 100 2 200 100 2
= (23x-20x)= 11100 = x=23700.
I ¥A = 3700 %o,
15, HM AW ¥ = x To. G,
( 1)(311]123 8x 3lx 123
axfx —xl|-]xrx—x—xl|z==> ——~—=—
100 2 100 400 2
= (32x - 31x) = 24600 = x = 24600.
IVt® Y = 24600 To.
16. TEHA = 600 Fo, To ST = (720 — 600) To = 120 Fo, THH =4 T4,

100 x Hlo 100 x 120
- ) = %0,
e [600x4jﬁaﬁa7 59 aTfi,

AU = 600 To, T T = 7% THE, THY = 4 0.

o=

sy = [600 + (600 x % x 4)} Fo = (600 + 168) To = 768 To.

.17, HM H&HA = x Fo. T, TrUo ST = (0:123)x Fo, T = 10% AU,
100 x "lo & 100x 0125 x x 25 I
—_— = | —— = a1
AU * T xx10 100 4
18. T WG UA = 100 To. 15% A X 9 ¥A = 40 To. T¥ = 60 To.
10% afti= &7 9T u= = 30 To, 18% =NfHE T I ¥ = 30 To.

T,

100 To &1 1 94 F = = (40x£x1)4[30x£x1)+(30xl8—x1)
‘ 100 100 100
= (6 + 3 + 5:40) Fo = 14-40 To,
anfre 9T = 14-4% anf.
19, A F& °F = x To, T,

Wﬁqm=~{ FO.KHTT\WT=£ 5°,ﬁ1’€0‘1ﬂ=x—(-§+£)=(1 7IJ=5—X To,

3 4 4 “12) 12
[f—x—z—xl)+(-{xix1)+[§ix—£»l)=56l
37100 4100 12 100
T% X o X 561 = 14x + 12x + 25x = 336600 = 51x = 336600 => x = 6600
300 50 24 * :
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20. WW=X‘5°-W,W°W=T&,W11=TE#‘
Ix
100 x ==
(100 x "o =1H) 4 ( 3 2

A ) wifE R = = % ={ 100 x = x — l0; = g0
) RS 4 35| B=6%.

2

25x
21. HFI HEYA = x Fo, T, Ho AT = T T° FH T = R% =Hffe au1 gHa = R =,

——”‘RXR=3§5=>R2=[§><100)=>R= 5"")):121_
100 16 16 4 2

Hﬁ:mﬁmﬁﬁﬁ'?{=l2‘;‘%.
22, T = x% TINF, GAY = x 6, Hio ¥ = x To,
100 x "o =TS 100 x x 100
A = =[ ]F=[“—)'€°
23. WM R = R% o4 87 99 = T .

XX RxT _ — YXRxT
100 Y 100 z

xXxXXx X

00y

1 . 100z 100y 100z
= RT=—— W0 RT= = =

5= y2=zx,

X
24, TEYT = 2000 Fo, Hlo ST = (2600 — 2000) To = 600 o, TAY = 5 TY,

100 x Ho =1 100 x 600

FiH | = = % = 6%.
YA x 9Hg 2000 x5

39, AT = 2000 Fo, G = 5 Y, T = (6 + 3)% = 9%.

2000x 9% 5
100
25. A A = x o, WA = 20 T, fAAYA = 3x To. TH, Wio =TS = 2x To.

100 = |To =q= 100 x 2x
T = HAYT * 9Oy =(.xx20
3, qAYA = x Fo, THHYA = 2x Fo. 370 Ho =W = x Fo, T = 10% .

100 x Flo =TT 100 x x
- o5 = 10 99,
HEAHA x BT xx 10
26. W 49 = x Bo, §HY = 10 9¥, fA9YT = 3x Fo. 370: We I =2y Fo,

100 x o =HTH 100 x 2x

- = 4y = 0,

=i e — [”10 J/o 29/».

27. HMI Y9 = x Fo, T = 109% =i, fHau = 3x To. 370: Qo =T = 2x Fo.

100 x Hlo == 100 x 2x
= 4 = 20 9.

YT x T xx10

28. T YA = x To, THAET = 2x Fo. 3T0: Wio &9 = x To, G = 1598
100 % Hio =14 (lOOxxJ
—_— e e | ————

YA x 9Hg xx15

1
29, Wﬂﬂ=x‘60,3(=5%aﬁﬂ?,w=-3‘6—s* ¥, "o ST = | %o,

fasygs = ‘[2000 + J To = (2000 + 900) Fo = 2900 To,

)%= 10%.

%=6Z%.

aﬁ%m= 3
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30.

1.

32.

33.
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36.

TR FFT
X% ixL =1=x="7300 To.
100 365
A AW ¥ = 7300 To.

Tl 4, B, C ¥ W HAL: x Fo, y To AU z o §. T4,

( & ) [ : ) ( &
X+xx—x2|=|y+yx—x3i=lz+zx-—x4
100 100 100

(Hi]:( +3_y)=(z+£)=,ﬁ_!§z_z_
- S CART 5)7 5 "0 5 Sk

_ﬁ y:& qdn _&—;)x' 'z:&'lOk'Sk ]- -]
= VT IR s T T 137

= A'=F["1T‘T=[25300x29—513] To = 9100 To.

T FhT 1 = F AR T FAL R, 91R, €. T,
(soooxﬂx 2)-(5000xﬁx 2) =25= 100(R, - Ry) =25 = (R, - R;) = 2 oas.
100 100 100
. AT IR = 0-25%.
TN 6% STEE € T T TR 69 = x %o, 9% FfHH T W 4T = (5000 — x) To.

(xxix1J+ (sooo—x)xixx}=390=>—61+29M ~ 390
100 100 10 100

6x + 45000 - 9x = 39000 == 3x = 6000 = x = 2000.
T v Y IUE = 2000 : 3000=2: 3.
1 8% o1 ST 9T A T 49 = x To AT 10% FMMHF T H 47 = (10000 — x) To.
(xxlwl)+(10000—1)x—]9—x1=10000x£ x |
100 100 100
2x , (10000-x)
25 10
8% e T I f&an T4 uA = 4000 Te.

2 99 & =9 = (5680 — 5200) To = 480 Fo.

480
594 1 =W = (sz] To = 1200 To.

=920 = 8x + 10 (10000 — x) = 92000 => 2x = 8000 = x = 4000.

TAYA = (5200 — 1200) Fo = 4000 Fo,
4000 To T 5 T T = = (5200 — 4000) = 1200 Fo.

100 x 1200
= | —]0 = B9
=9 /W [4000x5 J/..aﬁm 6% T,
3 T 1 = = (2600 — 2240) To = 360 Fo = | T H N = —— To = 120 Fo,

3
= 2 9 T = = 240 Te.

T = (2240 — 240) Fo = 2000 Fo,
AU = 3600 Fo, T = 15% e, ¥4 = 4 7,

s = (3600 + 3600 x 71656 x 4) To = (3600 + 2160) Fo = 5760 Fo.

FHY T HTE = (5760 — 4000) Fo = 1760 To.



VT =151

i 25
37, T YEEA = x o, T4, Hlo T = x o, §HA = 125 e = — =,

38.

39,

2

7 & fiE X =

lOOX'HIoTﬂﬁl_ 100 x x
O x §HT \ X x 25/2
AU = x To, Wlo =M = (3x — x) o = 2x Fo, T = §% aAfh,
Hie =q19 100 x 2x
ey = 100X T =S _ af =25 =,
A x TW xx8
WA Yo fE 1 AT = x %o, T,

(x o 1 2 T =1 o) + (r Fo F1 | & &1 o) + x = 1092

)%=8%.

= x+xx-]—g—x2J+ x+xx£—x]) +x=1092
100 100
= (x+2)+(x+3—xJ+x=I092 ﬂf+§£ +x= 1092
25 25 25 25
= (31x + 28x + 25x) = 27300 = 84x = 27300 = x = 325.
J& 1 1 9H = 325 To.
T afife ¥ 69 = x Fo. T4,

(x To =t 4 T4 T fHo) + (x Fo 1 3 T H1 7o) + (x To T1 2 & =1 fito)

339

+ (x %o &1 | o &1 flHo) + x = 580

xx8x4J‘ ( xxS:-d) xxSxZJ ( x % 8x
x+ +]x+ +|x+ +|x+
( 100 100 160 100

x+8x)+ x+ﬁ)+(x+ﬁ)+(x+£]+ = 580
= 25 25 25 25) 7"

3x 3Ix 29x  27x

+—=+ + == 4x=
35 25 T35 v txT380

= (33v+31x+29x + 27x + 25x) = 14500 = 145x = 14500 = x = 100,

e fped = 100 o =i,
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